Algebra 2  Bellwork  Tuesday, January 5, 2016
1. Find the solutions to this equation by graphing.

x* +5x2+6 = 4x3 + 8x

2. Find ALL solutions by factoring.
a) 2x*—4x3 +10x>-20x =0 b) 3x% —3x* - 60x? = 0

Algebra2  Bellwork  Tuesday, January 5, 2016 [ ANVIER S

1. Find the solutions to this equation by graphing. I

e~ , ‘ T .
x4 +5x2+6 = 403 + 8x \,\ ,;" X = I =2 |
i \\ f / _/) /
Y L‘, , ;_7 <V, . C- )/ =) ———— i \\ ;
>< —Y4YY¥Y DX —g X e —C P SN S S W—
~ \ P < 3 ‘; \\ /’
(A e OV 4. f=1 W e 20evoec (Y ~iat ) { -
i} e ¥ | AN v_fli(lt (X =taT |

2. Find ALL solutions by factoring.

a) 2x* —4x3 +10x2 - 20x = 0 b) 3x¢—3x*-60x* = 0
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